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F—L|ot—5—| BEER |PLAY PLAYER(S) —K PAT EbN[:il=
M| 1 3:20 |PASS|#18 E% —  #4 INER 23 | K [#12 X& G 0|7
Bz | 1 7:28 | RUN |#22 H# 10 | K [#12 x& G 0|14
A% | 1 [11:37 | RUN [#22 # Lt 25 | K [#12 X& G 0| 21
Bz | 2 | 2:57 |PASS|#18 285 — #0 yrzavk| 14 | K [#12 X& G 0|28
B | 2 | 5:38 | RUN [#22 #t 1 K [#12 x5 G 0|35
M| 2 [11:14 |PASS|#18 2585 — #6 A+E | 19 | K [#12 X&E G 0| 42
B | 3 | 1:31 | RUN |#40 #%t 21 | K [#12 X& G 0 | 49
M| 3 | 4:25 | RUN |#26 EE55 63 | K [#12 X& G 0 | 56
B | 4 2:20 | RUN |#26 E5 4 K |#12 X G 0|63
% | 4 | 9:00 | RUN [#26 & 13 | K [#12 x& G 0|70
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1= E1% — RkIh 0o - 0 10 - 10
PAT 28 EM — H 0 — o0 0 — 0
J4—ILRI—)L m% — A 0 - 0 0 - 0
tALTT4 @155 0 0
T7—ARE Y (5v—/RZ2— KAl 76 —1-20 24 (12 -12 - 0 )
2 HIE—H—INT 5 -2 -0 22 —-16 - 0
\
! 18— 15 262
Sy E%—EBVY—K 41 - 119 29 — 299
W E%—EBVY—K 46 — 134 51 — 561
=8l E% — v—K 3 — 25 1 — 5
J7oT7) m% — =k 2 - 2 0 - 0
3rd DOWN CONV. 25% 3 12 67% 4 6
4th DOWN CONV. — 0o ~ 0 100% 1T 1
R—ILER B BEE 21 7 527 20 08~
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